e || =

2 & ||F

90%

b 47065 A
fEitE 4 *[]

EAHE  BEERME FEGER  GEEL. GATSHE ATSHE  HEETEE
2 &
50%
47068 =
80% 40% . | . 8 B A X 5

N
Tjﬂ] s 2ibi KRR s mEnix
s Em - oL i

ﬁ 0% 30%

; baks e
:H:‘Iﬁlﬁi& E(41E:S: ] :IHR'IJ.E% :H:ﬂ'l%iﬁ
ngy o™ C ﬁ@ @ ﬁ (BEEES) )

/
i/

o
an

cow>§fg'
Om|m

|
AR AE »f’j’]z/‘/’ ( \
v J R
: SN ==

%\/,1/ s % i mmmm
T e ————

\ === 7 M

%ﬁjﬂ?{ ‘ \6 ﬂ/ ZOR1TH | \\ § \r} \}
1| 1 el =

w \ \ | : D \ vﬂﬁlﬁﬁeﬁlrfﬁ \ \i - \/J

SEEHERNF :\
\ 2 E BRI E ‘
N ‘

\L /) - N )&
L sumemmEEs
PN\ = ==
2 s/ \\\[ \ v%ﬁﬁﬁﬁiﬁ*\lﬁfr \\
s & || \ \ \ EEER AR \\ W \{
=ZOH1TH \ \ \ S \\ L\ R | e 5
LA T e oo
{
J| \\\\ am | R Z:\M B
e =~ : EREAR z B
= S| \\ A o I—
\ \\ \\ \\ o S Ji \ - \




